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Oppgave 1

Suppose that there are two categorical explanatory variables, sex (male or female) and handed-
ness (right- or left-handed). Suppose that people, coming to some place, say, a shoping center,
are investigated: their sex is registered and they are asked about being left- or righthanded.
Let probabilities that a person, coming to the center, is MR, ML, FR, and FL (MR means
male, right-handed etc.) are 61, 012, 091, and 099 respectively. Denote Y71, Yia, Ya1, and Yo the
number of MR, ML, FR, and FL

(i) among first 1000 people,
(ii) coming during the day.

Suppose that people come independently of each other, and that the total number of people,
coming during the day, has the Poisson distribution with parameter .

a) Find the distribution of Y = [Y71, Y9, Yoy, Yoo| in case (i) and in case (ii).
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b) Suppose that design (i) is used, and results of the investigation are presented in the con-
tingency table below. The question of interest is whether there is an association between
sex and handedness. Examine this by testing the null hypothesis that the variables are

independent.
right-handed | left-handed
male 430 90
female 440 40
Oppgave 2

Consider the following model (binomial model with one continuous explanatory variable):
Y1, ..., Yy are independent;

Y; ~ binomial(n;, m;), 7 = F(z;6), i=1,..., N,

where x; and (3 are scalars, and F' is a differentiable, strictly monotone cumulative distribution
function. Denote the corresponding density by f.

a) Show that the score statistic is

f(fﬁzﬂ)
(z:8)(1 = F(x:0))

U= Z(Yz‘ - niF(fciﬁ))F

=1

Z;.

In the rest of the exercise suppose that F' is the logistic distribution function:

F(x) = , —00 < T < 00.

b) Show that in this case the expression for U can be simplified. (Hint: find f/F (1 — F).)
¢) Find the information I = EUZ.

d) Show that the method of scoring for the maximum likelihood estimator has the form
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Oppgave 3
Let the cumulative distribution function of Y be
Fly)=e"" —oo<y<oo; —oo<b< .

Show that the distribution of Y belongs to the exponential family. Find Ee~Y .



